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MR OEOEY - - - - |- - - - | 2 ]<0.001 <0.001|<0.001
ERREDEY - - - - |- - - - |12 0.003 | 0.001 0.002
AMiizesib &Y - - - - -1 - - - | 4 <0.002 <0.002] <0.002
BRI ES - - - - - - - - 2 1 <0.004 <0.004 <0.004
. ITAAZ RSN TY | - | - - - |- - - - | 4 <0.001 <0.001] <0.001
MEEER K CEMNBREESR - - - - |- - - - 2] « el !
B oy sz oz niba - - - - |- - - - | 2] <0.08  <0.08 | <0.08
i [FURROZDLEY - - - - |- - - - |12/ 05 | <0.1 0.3
P LR - - - - - - - - 2 <0.0002 <0.0002 <0.0002

% 1,4-F %4 - - - - |- - - - | 2 <0.005 <0.005] <0.005
B [ i - - - - |- - - - | 2 <0.004 <0.004 <0.004
+ |vranrzy - - - - |- - - - | 2 1<0.002 <0.002] <0.002
FhFranzFLyv - - - - |- - - - | 2 <0.001 <0.001 ] <0.001

s NyrrzFLyv - - - - |1-1 - - - | 2 <0.001<0.001 | €0.001
N e - - - - |- - - - | 2 <0.001 <0.001] <0.001
EREES -l - - - |- - - - |4 0.10 <0.06 <0.06
PAaizl (i3 - - - - |- - - - | 4 <0.002 <0.002] <0.002
VA= TN - - - - |- - - - |12 0.008 | 0.002 0.004
VIuoRiER - - - - -1 - - - | 4] 0.005 <0.003|<0.003
PA=RA=1=Y0 4 - - - - |- - - - |12 0.008 | 0.002 0.004
RER B - - |- - - - | 4[<0.001 <0.001|<0.001
REUNBAZY - - - - |- - - - |12 0.022 | 0.006 0.013
[WPAzdzl (373 - - - - |- - - - | 4 0.005 <0.003|<0.003
A A=Y - - - - |- - - - |12 0.008 | 0.003 0.005
PAZS SN - - - - |- - - - |12 0.002 <0.001]<0.001
FIVLT I TER - - - - |- - - - [ 4 <0.008 <0.008] <0.008
Gty A0 ) eex. - - - - |- - - - |2 <01 | <1 @ <ol
;Ei THAI=U LR OEDLEY - - - - - - - - |12 0.02 | <0.01 | <0.01
D | B ED{LA Y - - - - - - - - 2 | <0.03 | <0.03 | <0.03
fﬁﬁ&rﬂ%ﬁbﬁ% - - - - |- - - - |2 <01 | <01 <.
RNFNTERPZOED - - - - |- - - - |2 13 12 13
ri <A ROEDILE Y - - - - |- - - - |12 <0.001  <0.001 | <0.001
R[4 - - - - |- - - - |12 29 13 20
ég ANYTL, I RO NE (FE) | - | - - - |- - - - |4 45 32 40
B RBREY -l - - - |- - - - |4 130 | 90 | 110
—g A A SmEE A - - - - |- - - - | 2] <0.02 | <0.02 | <0.02
EH|Yetzzr - - - - |- - - - | 12 0.000001  <0.000001 <0.000001
H 2-AFNAI RV FA— L - - - - - - - = | 12 <0.000001  <0.000001 <0.000001
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78 57 i K35

HE K B K Ok # K
E% BX | & By [E% BRK | RN WY [(EX% BRRK | RN | B
ViN % FEA A TG R - - - - - - - - 2 |<0.002 <0.002  <0.002
’E f); Tx)—VE - - - - - - - - 2 1<0.0005|<0.0005  <0.0005
. [ @At (Toc) o) - - - - |- - - - 12| 08 | 04 | 06
# :f; pHAE 3, 74 | 74 | 74 |3 71 | 70 | 71 [12 74 | 71 | 7.2
| ¥ ok - - 3 BHARL 12 BRAEL
& ;géi B&R *1 | 3 RERL 3 RBERL 12 BERL
3 B - - - - -1 - - - |12] 05 | <05 | <0.5
H 1§ BE 3. 28 19 | 23 |3 <0.1 | <0.1  <0.1 [12 <0.1 | <0.1 0.1
T FEROEDEY - - - - |- - - - | 2 <0.002 <0.002] <0.002
UV RO EDILED - - - - - - - - 2 1<0.0002 <0.0002 <0.0002
=v IV R OZEDILEY -l = - - -1 - - - | 2 <0.002 <0.002] <0.002
1,2-C7uanxi - - - - - - - - 2 <0.0004 <0.0004 | <0.0004
Mz - - - - |- - - - | 2 <0.040 <0.040] <0.040
TENVBY (2-TFA~FIN) - - - - |- - - - | 2 <0.008 <0.008| <0.008
X HE R - - - - -1 - - - 2 | <0.06 | <0.06 | <0.06
PruuyEh=hIn - - - - |- - - - | 4 [<0.001 <0.001]<0.001
" fakres—n - - - - |- - - - | 4 0.003 <0.002]<0.002
& |m3on *2 | - - - - - - - - - - - -
m [REER - - - - |3 044 | 038 0.41 [12 0.52 | 0.34 0.43
TN b, 2 R D () - - - - |- - - - |4 45 32 40
H <A RPZE DS Y - - - - |- - - - |12 <0.001<0.001 ] <0.001
B (R - - - - |- - - - |4 22 | 18| 21
gy [LLI-NZmR=sy - - - - |- - - - | 2 <0.030 <0.030]|<0.030
AFN—=-TFFT—F ) - - - - |- - - - | 2]<0.002 <0.002] <0.002
= M (SRR (TOC) DE) - - - - |- - - - |12 08 | 04 | 0.6
I |R&5mEE (TON) *3 | - - - - - - - - - - - -
5 REBREY B - - |- - - - | 4] 130 | 90 110
BE 3, 28 | 1.9 | 23 |3 <0.1 | <0.1  <0.1 [12] <0.1 | <0.1 <0.1
pHAE 3, 74 74 | 74 |3 71 | 70 71 |12 7.4 | 11 | 7.2
BEREGFYTHER - - - - -1 - - - |4 17 22 -20
BERR I - - - - |- - - - |12 & <1 <1
1,1-YrmazFLv - - - - |- - - - | 2 <0.010 <0.010]<0.010
TAI=VLROZEDLEY - - - - |- - - - |12] 0.02 | <0.01 <0.01
PFOS & UO'PFOA - - - - - - - - 4 | <0.000005 <0.000005  <O.
KR 3,59 | 45 | 52 |3 56 | 46 50 [12 188 | 3.7 | 11.3
EREER 3 118 | 103 | 113 [ 38| 146 & 128 | 138 |12| 198 97 152
. RHEIHRE (V=T 2 H) - - - - - - - - - - - -
D |TUoE=TEESR - - - - - - - - - - - -
| - - - - |- - - - |- - - -
TNAVE - - - - |- - - - 4 27 18 22
A AN T2 - - - - |- - - - |4 14 10 12
B [+7%rva - - - - |- - - - |4 28 | 1.7 23
YT - - - - |- - - - 4] 20 | 1.8 20
SRIMRBOLEE (E260) 3 10.126 | 0.115  0.119 ]| 3 | 0.038 | 0.034 | 0.036 [ 12 0.055 | 0.029 | 0.041

*¥1 JRKIZBOT, FIAARRORN ER, £R) IFMRE LU,
*2 BIEOMIX, FTREBBEBEEIZEHLEZLOTHS,
%3 ARICEREERUI-BEE 0L RBRE L,
- TR THEICAED B ABEUS D723, 3H 28 B TR - BlKIZRHE, AKX A BKHLVEK,
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= T % KIS

HE Bk B K A&k K

E% BX | & By [E% BRK | RN WY [(EX% BRRK | BN | B

— B 51 2600 | 12 320 |51 <1 <1 1 |12« <1 <1
UL 51 580 | <1.0 54 |51 A RAEH FHH| 12 | Rl Rl R
IRV LR OZEDIAEY 2 <0.0003/<0.0003  <0.0003[ - | - - - | 2 [<0.0003  <0.0003| <0.0003
KEREFK TEDILED 2 |<0.00005|<0.00005 <0.00005| — - - - 2 <0.00005 <0.00005 <0.00005,
LU RUZEDOLAY 2 <0.001/<0.001 <0.001 - | - - - | 2 ]<0.001 <0.001]<0.001
MR OEOEY 2 <0.001/<0.001 <0.001| 2 |<0.001 <0.001|<0.001| 2 | <0.001 <0.001  <0.001
ERREDEY 12| 0.004 | 0.001 0.003 | - | - - - |12 <0.001<0.001] <0.001
Mz MLEY 4 1<0.002 <0.002 | <0.002[ 4 <0.002 <0.002 <0.002| 4 ' <0.002 <0.002 <0.002
BRI ES 2 <0.004 <0.004|<0.004| - | - - - 2 1 <0.004 <0.004 <0.004
- TN RURILS 7Y | 4 €0.001<0.001 <0.001| 4 |<0.001 <0.001|<0.001| 4 | <0.001 <0.001  <0.001
HBIRER K OHMBEER 2| « a a |- - - - 2] « <1 <1
B oy mroznitay 2 | <0.08 <0.08 | <0.08 | - - - - | 2] <0.08  <0.08 | <0.08
I |RUEROZDILEY 12| <0.1 | <0.1  <0.1 | -] - - - |12 <0.1 | <0.1 @ <o0.1
miE{vRFE 2 <0.0002 <0.0002 <0.0002( — - - - 2 <0.0002 <0.0002 <0.0002

W 1,4-F %4 2 <0.005 <0.005 <0.005[ - | - - - | 2 <0.005 <0.005] <0.005
= ;/;3121:;/2/?;;3;50 2 <0.004|<0.004 <0.004| - | - - - | 2 <0.004 <0.004 <0.004
+ |vranrzy 2 <0.002|<0.002 <0.002| - | - - - | 2 [<0.002 <0.002] <0.002
% FhFranzFLyv 2 <0.001/<0.001 <0.001| - | - - - | 2 [<0.001 <0.001]<0.001
NyrrzFLyv 2 <0.001/<0.001 <0.001| - | - - - | 2 ]<0.001 <0.001]<0.001
N e 2 <0.001/<0.001 <0.001| - | - - - | 2 ]<0.001 <0.001]<0.001
g [ERRE - - - - | 4 0.07  <0.06 <0.06| 4 0.07 | <0.06 <0.06
VA=1=1 (3 - - - - | 4 <0.002|<0.002 <0.002| 4 <0.002 <0.002 <0.002
VA= TN - - - - | 4 0.007 <0.001 0.003 |12 0.009 <0.001 0.003
Pdadzi (33 - - - - | 4 0.004 | <0.003 <0.003| 4 | 0.004 <0.003) <0.003
DA A== 4 - - - - | 40.002 0.002 0.002 |12 0.003  0.001 0.002
RER - - - - | 4 <0.001]<0.001 <0.001| 4 | <0.001 <0.001 | <0.001
REUNBAZY - - - - | 4 0.014 <0.004 0.008 |12 0.017 |<0.004 0.008
(WEA=A=117 - - - - | 4 0.004<0.003 <0.003| 4 0.005  <0.003 <0.003
TaEYranify - - - - | 4 0.005 | 0.002 0.004 12 0.006  0.001 0.003
PAZS SN - - - - | 4 <0.001]<0.001 <0.001| 12 <0.001 <0.001<0.001
FVATNVTER - - - - | 4 <0.008 <0.008 <0.008| 4 <0.008 <0.008 <0.008
K (EHEOZEDILA S 2 <01 | 0.1 | <0.1 | 2] <0.1  <0.1 | 0.1 |2 <0.1 | <0.1 @ <0.1
;Ei TAI=Y LR EDLEH 12| 0.23 | 0.04 | 0.09 |12 0.02 | <0.01 | <0.01 [12] 0.03 | <0.01 0.01
D B OEDLA W 2 017 | 0.17 | 0.17 [ 2 | <0.03 | <0.03 | <0.03 | 2  <0.03 | <0.03  <0.03
f_ﬁﬁ&zﬂ%mbﬁ% 2 <01 | <01 <01 2] <01 | <01 0.1 ]2 <0.1 | <0.1 | <0.1
RN|FNTLRBEDLEY 2 78 | 73 76 [- - - - 2] 99 | 90 95
ri <A RBEDLEY 12 0.045 | 0.011 | 0.027 | 12  <0.001 | <0.001 <0.001| 12| €0.001 <0.001 | <0.001
R[4 12 11 6 8 4 16 1 12 12| 21 9 12
ég ANYTL, <SR ONE (FE) | 4 41 31 B |- - - - 4 4 32 39
B RBREY 4| 100 80 0 |- - - - 4] 100 90 100
z A A SmEE A 2 1 €0.02 <0.02 | <0.02| -] - - - 2 | <0.02 | <0.02 | <0.02
FH|P=AR3 12 /0.000001] <0.000001 | <0.000001| 12 |0.000001 <0.000001 | <0.000001| 12 |0.000001| <0.000001  <0.000001
H 2-AF NAIRNVRA—IV 12 | <0.000001 <0.000001 <0.000001] 12 | <0.000001 <0.000001 <0.000001] 12 | <0.000001 <0.000001 <0.000001
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= HT % KIS

HE K B K Ok # K
E% BX | & By [E% BRK | RN WY [(EX% BRRK | RN | B
k| & PO REEEA 2 <0.002|<0.002 | <0.002 - - - - | 2| <0.002 ] <0.002| <0.002
’E ;)]g Tx)—VE 2 1<0.0005|<0.0005| <0.0005| — - - - 2 1<0.0005|<0.0005 <0.0005
3, [t (2 A5 (TOC) &) 51, 38 | 05 | 1.0 |51 0.9 | 03 0.6 [12 0.8 | 0.3 | 0.5
# :f; pHAE 365 7.6 | 7.0 7.4 365 7.4 7.2 | 73 |12 74 | 72 | 7.3
| ¥ ok - - 365 BREL 12 BEBL
5 ;gi_ 2R *1 [365 BEZRL364 KRR [365 BERL 12 RERL
5 | 12| 10 1.6 | 4.0 [12) <0.5 | <0.5 | <0.5 |12 <0.5 | <0.5 @ <0.5
H ??ﬁﬁ 365 20 0.2 | 1.3 |365 <0.1 | <0.1  <0.1 [12 <0.1 | <0.1  <0.1
TrvFEVROEDILEY 2 <0.002 <0.002|<0.002| - | - - - 2 1 <0.002 <0.002 | <0.002
U7V ROEDILED 2 <0.0002 <0.0002| <0.0002( - - - - 2 1<0.0002 <0.0002 <0.0002
= VB EDILEY 2 <0.002|<0.002 <0.002| 2 | <0.002  <0.002 <0.002| 2 | <0.002 <0.002 | <0.002
1,2-C7uanxi 2 1<0.0004|<0.0004| <0.0004| — - - - 2 <0.0004 <0.0004 | <0.0004
% 2 <0.040|<0.040 <0.040( - | - - - | 2 <0.040 <0.040] <0.040
TENVBY (2-TF ~FIV) 2 | <0.008|<0.008 <0.008| 2 | <0.008  <0.008 <0.008| 2 | <0.008 <0.008 <0.008
X HE R - - - - 2 | <0.06 | <0.06 | <0.06 | 2 <0.06 | <0.06 | <0.06
PruuyEh=hIn - - - - | 4 <0.001 <0.001 <0.001[ 4 | <0.001|<0.001 <0.001
" fakres—n - - - - | 4 <0.002|<0.002 <0.002| 4 |<0.002 <0.002 <0.002
T (eI *2 |4 <0.1 | 0.1 <01 4] <.1 <. | <.l |- - - -
m [REER - - - - 365 0.56 | 0.36 0.44 [12 0.50 | 0.34 0.42
HNYY R, =S XY 2% () 4 a1 31 38 [- - - - 4] 41 32 39
H <A RPZE DS Y 12| 0.045 | 0.011 | 0.027 | 12 | <0.001 <0.001 <0.001[ 12 <0.001|<0.001 <0.001
B (R 4 1.8 1.3 .6 |- - - - |4 22 1.3 1.7
gy [LLI-NZmR=sy 2 <0.030|<0.030 <0.030[ - | - - - | 2 <0.030 <0.030]<0.030
AFN—=-TFFT—F ) 2 <0.002|<0.002 <0.002 2 | <0.002 <0.002 <0.002| 2 | <0.002 <0.002| <0.002
= M (SRR (TOC) DE) 51 38 | 05 | 1.0 [51 09 03 | 06 |12 08 | 03 | 05
H |R&EE(TON) 3 |1 1 1 1 - - - - - - - -
5 REBREY 4| 100 80 90 |- - - - | 4] 100 90 100
BE 365 20 0.2 | 1.3 |365 <0.1 | <0.1  <0.1 [12 <0.1 | <0.1 @ <0.1
pHAE 365 7.6 | 7.0 7.4 365 7.4 7.2 | 7.3 |12 7.4 12 | 7.3
BEREGUFYTHER -l - - - -1 - - - |4 17 24 | 21
e R 12 | 83000 | 3400 | 17000 (12 6 <1 1 |12 15 2 5
1,1-PZanxFLv 2 1<0.010<0.010 <0.010| - | - - - | 2 [<0.010 <0.010]<0.010
THAI=Y LR OEDLE 12| 0.23 | 0.04 | 0.09 |12 0.02 | <0.01 | <0.01 [12| 0.03 | <0.01 0.01
PFOS & U'PFOA 4 | <0.000005 | <0.000005 | <O0. 5| — = = = 4 | <0.000005  <0.000005 <0
KR 365 19.3 | 0.3 8.1 (365 20.3 06 | 88 [12 194 17 | 9.6
EREER 365 145 61 113 [365 186 76 127 |12 183 86 136
€ BRMEFNRE (V=Y 2 H) 51 4 <1 a |- - - - |- - - -
D |FTrE=TERESR 51 0.03 | €0.02 <0.02|-| - - - -1 - - -
W |[EEHY 12| 0.038 | 0.008 0.019 |- | - - - |- - - -
TNHYE 4 24 11 9 |- - - - |4 25 15 20
A AN T2 4 13 9.2 12 |- - - - |4 13 9.6 12
B [v7%rva 4 25 | 19 23 |[-| - - - |4 25 | 19 | 23
YT 4 13 | 054 084 |-| - - - |4] 1.0 059 | 0.79
SRIMRIBOLEE (E260) 365 0.686 | 0.057  0.121 [365 0.090  0.023 | 0.040 | 12 0.052 | 0.024 | 0.036

*1 JFAKIZBWTATIARARO RN (BR, 1 8) IXTRE | LEILARN,
*x2 BIEEOMIL, £TRBBE HEMEIZEELELOTHS,
*3 ERICREERUESICOLRBREER,
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E LR KR

HE Bk B K A&k K

E% BX | & By [E% BRK | RN WY [(EX% BRRK | BN | B

— B 51 750 6 170 |51 <1 <1 a1 |12« <1 <1
UL 51 200 1.0 25 |51 A ReEH | 12 | Rl Rl R
IRV LR OZEDIAEY 2 <0.0003/<0.0003  <0.0003[ - | - - - | 2 [<0.0003  <0.0003| <0.0003
KEREFK TEDILED 2 |<0.00005|<0.00005 <0.00005| — - - - 2 <0.00005 <0.00005 <0.00005,
LU RUZEDOLAY 2 <0.001/<0.001 <0.001 - | - - - | 2 ]<0.001 <0.001]<0.001
MR OEOEY 2 <0.001/<0.001 <0.001| 2 |<0.001 <0.001|<0.001| 2 | <0.001 <0.001  <0.001
ERREDEY 12| 0.004 | 0.001 0.002 | - | - - - |12 0.001 | <0.001] <0.001
Mz MLEY 4 1<0.002 <0.002 | <0.002[ 4 <0.002 <0.002 <0.002| 4 ' <0.002 <0.002 <0.002
AR ER 2 <0.004 <0.004|<0.004| - | - - - 2 1 <0.004 <0.004 <0.004
- TN RURILS 7Y | 4 €0.001<0.001 <0.001| 4 |<0.001 <0.001|<0.001| 4 | <0.001 <0.001  <0.001
HBIRER K OHMBEER 2| « a a |- - - - 2] « <1 <1
B oy mroznitay 2 | <0.08 <0.08 | <0.08 | - - - - | 2] <0.08  <0.08 | <0.08
I |RUEROZDILEY 12| <0.1 | <0.1  <0.1 | -] - - - |12 <0.1 | <0.1 @ <o0.1
miE{vRFE 2 <0.0002 <0.0002 <0.0002( — - - - 2 <0.0002 <0.0002 <0.0002
W 1,4-F %4 2 <0.005 <0.005 <0.005[ - | - - - | 2 ]<0.005 <0.005] <0.005
= ;/;J;’-ﬁ:;{@?;;ﬁﬁfv 2 <0.004|<0.004 <0.004| - | - - - | 2 <0.004 <0.004 <0.004
+ |vranrzy 2 <0.002|<0.002 <0.002| - | - - - | 2 [<0.002 <0.002] <0.002
FhFranzFLyv 2 <0.001<0.001 <0.001 - | - - - | 2 [<0.001 <0.001]<0.001
s NyrrzFLyv 2 <0.001/<0.001 <0.001| - | - - - | 2 ]<0.001 <0.001]<0.001
N e 2 <0.001/<0.001 <0.001| - | - - - | 2 ]<0.001 <0.001]<0.001
g [ERRE - - - - | 4 0.08  <0.06 <0.06|4 0.08 | <0.06 <0.06
VA=1=1 (3 - - - - | 4 <0.002|<0.002 <0.002| 4 <0.002 <0.002 <0.002
VA= TN - - - - | 4 0.007 | 0.001 0.005[12 0.007 |<0.001 0.004
D Aada 113 - - - - | 4 0.004 | <0.003 <0.003| 4 | 0.005 <0.003) <0.003
DA A== 4 - - - - |4 0.001 <0.001 <0.00112| 0.001 |<0.001 <0.001
RER - - - - | 4 <0.001]<0.001 <0.001| 4 | <0.001 <0.001 | <0.001
REUNBAZY - - - - | 4 0.012 0.004 0.008 |12 0.012 |<0.004 0.006
(WEA=A=117 - - - - | 4 0.006  <0.003 0.003 | 4 0.006 | <0.003 0.003
TaEYranify - - - - | 4 0.004 0.002 0.003 |12 0.004 | 0.002 0.003
PAZS SN - - - - | 4 <0.001]<0.001 <0.001| 12 <0.001 <0.001<0.001
FVATNVTER - - - - | 4 <0.008 <0.008 <0.008| 4 <0.008 <0.008 <0.008
K (EHEOEDILA S 2 <01 | 0.1 | <0.1 | 2] <0.1  <0.1 | 0.1 |2 <0.1 | <0.1 @ <0.1
’;}ﬁ( TAI=Y LR EDLEH 12| 0.16 | 0.04 | 0.10 | 12| 0.04 | <0.01 | 0.02 [12 0.04 | <0.01 | 0.02
DB OEDLAY 2 0.09 | 0.04  0.07 [ 2 <0.03 <0.03 <0.03| 2 <0.03 | <0.03 <0.03
ﬁﬁﬁ&tﬂ%mbé}% 2 <01 | <01 <01 2] <01 | <01 0.1 ]2 <0.1 | <0.1 | <0.1
NRI|FTLRUZED LAY 2 10 54 | 171 |- - - - |2 1 8.9 10
:ﬁ; <A RBEDLEY 12 0.013 | 0.007 | 0.012 | 12  <0.001 | <0.001 <0.001| 12| €0.001 <0.001 | <0.001
R |14 12| 16 5 8 |4 20 10 13 |12 20 8 12
El.;.z? ANYTL, <SR ONE () | 4 43 26 % |- - - - |4 43 25 36
B | REBREY 4 110 | 70 g |- - - - |4 110 | 70 80
g A A S EE A 2 €002 <0.02 | <0.02|-| - - - 2 | €0.02 | <0.02 | <0.02
-l DAY g 12 0.000001 | <0.000001 | <0.000001| 12 |0.000001| <0.000001 | <0.000001| 12 | <0.000001  <0.000001  <0.000001
H 2AFNAVRNRA—IV 12 | <0.000001 <0.000001 <0.000001| 12 | <0.000001 <0.000001 <0.000001| 12 <0.000001 <0.000001 <0.000001
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E LR 5 KR

HE K B K Ok # K
E% BX | & By [E% BRK | RN WY [(EX% BRRK | RN | B
k| & PO REEEA 2 <0.002|<0.002 | <0.002 - - - - | 2| <0.002 ] <0.002| <0.002
’E ;)]g Tx)—VE 2 1<0.0005|<0.0005| <0.0005| — - - - 2 1<0.0005|<0.0005 <0.0005
3, [t (2 A5 (TOC) &) 51, 1.5 | 06 | 09 |51 0.9 | 03 0.6 [12 0.8 | 04 | 0.6
# :f; pHAE 365 7.7 | 7.2 | 7.5 365 7.5 71 | 7.3 |12 74 | 72 | 7.3
| ¥ ok - - 365 BREL 12 BEBL
5 ;géi 2R *1 [365 BERL364 KRR [365 BERL 12 RERL
5 |BE 12| 42 15 | 3.0 |12 <05 <0.5 | <0.5 [12] <0.5 | <0.5 <0.5
H ??ﬁﬁ 365 32 0.1 1.3 365 <0.1 | <0.1  <0.1 [12 <0.1  <0.1  <0.1
TrFEROEDILEY 2 <0.002 <0.002|<0.002| - | - - - 2 1 <0.002 <0.002 | <0.002
U7V ROEDILED 2 <0.0002 <0.0002| <0.0002( - - - - 2 1<0.0002 <0.0002 <0.0002
= VB EDILEY 2 <0.002|<0.002 <0.002| 2 | <0.002  <0.002 <0.002| 2 | <0.002 <0.002 | <0.002
1,2-C7uanxi 2 1<0.0004|<0.0004| <0.0004| — - - - 2 <0.0004 <0.0004 | <0.0004
% 2 <0.040|<0.040 <0.040( - | - - - | 2 <0.040 <0.040] <0.040
TENVBY (2-TF ~FIV) 2 | <0.008|<0.008 <0.008| 2 | <0.008  <0.008 <0.008| 2 | <0.008 <0.008 <0.008
X HE R - - - - 2 | <0.06 | <0.06 | <0.06 | 2 <0.06 | <0.06 | <0.06
PruuyEh=hIn - - - - | 4 <0.001 <0.001 <0.001[ 4 | <0.001|<0.001 <0.001
" fakres—n - - - - | 4 <0.002|<0.002 <0.002| 4 |<0.002 <0.002 <0.002
T (eI *2 |4 <0.1 | 0.1 <01 4] <.1 <. | <.l |- - - -
m [REER - - - - 365 0.88 | 0.34  0.51 [12 0.72 | 0.36 0.53
HNYY R, =S XY 2% () 4 43 26 % [- - - - |4 43 25 36
H <A RPZE DS Y 12| 0.013 | 0.007 | 0.012 | 12 <0.001 <0.001 <0.001[ 12 <0.001 <0.001 <0.001
B (R 4 1.9 1.8 .9 |- - - - |4 23 1.4 | 2.0
gy [LLI-NZmR=sy 2 <0.030|<0.030 <0.030[ - | - - - | 2 <0.030 <0.030]<0.030
AFN—=-TFFT—F ) 2 <0.002|<0.002 <0.002 2 | <0.002 <0.002 <0.002| 2 | <0.002 <0.002| <0.002
= M (SRR (TOC) DE) 51 15 | 0.6 | 09 [51 09 03 | 06 |12 08 | 04 | 06
H |R&EE(TON) 3 |1 1 1 1 - - - - - - - -
5 REBREY 4| 110 70 80 |- - - - 4] 110 70 80
BE 365 32 0.1 1.3 365 <0.1 | <0.1 | <0.1 [12] <0.1 | <0.1  <0.1
pHAE 365 7.7 | 7.2 | 75 (35 75 | 71 | 73 |12 74 | 12 1.3
BEREGUFYTHER -l - - - -1 - - - |4 17 21 -19
e R 12 | 61000 | 4400 | 26000 [12 3 <1 1 |12 1 <1 <1
1,1-PZanxFLv 2 1<0.010<0.010 <0.010| - | - - - | 2 [<0.010 <0.010]<0.010
THAI=Y LR OEDLE 12| 0.16 | 0.04 | 0.10 | 12| 0.04 | <0.01 | 0.02 [12 0.04 | <0.01 | 0.02
PFOS & U'PFOA 4 | <0.000005 | <0.000005 | <O0. 5| — = = = 4 | <0.000005  <0.000005 <0
KR 365 18.1 = 1.3 | 8.2 [365 21.1 2.9 | 106 [12 189 | 3.1 | 10.2
EREER 365 164 53 109 [365 178 66 119 [12] 162 85 124
€ BRMEFNRE (V=Y 2 H) 51 5 <1 a |- - - - |- - - -
D |FrE=TERESR 51 <0.02 | €0.02  <0.02 | -| - - - -1 - - -
W |[EEHY 12| 0.011 | 0.003 0.008 | - | - - i e - -
TNHYE 4| 36 19 28 | - - - - 4] 34 19 27
& NI D 4 11 67 | 93 |- - - - |4 11 6.5 | 9.3
B |=Z/%iva 4 39 | 22 32 |[-| - - - |4 39 | 21 | 32
AV 5 4 18 |08 13 |[-| - - - |4 18 08 | 1.3
SRR OLEE (E260) 365 0.341 | 0.073 | 0.139 |365 0.086 0.027 | 0.048 [ 12 0.065 | 0.029  0.044

*1 FKIZEBWT, FIAARRORN BR, LR) IMEE LU,
*2 BEREOMIT. F#TREBRE/BEM/IZAELELOTHS,
*3 RRICEABLZRUIBEAICOHARLEH,
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